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Figure 3.12,  (a) The beam incident from the left has an internal incident angle that is slightly less
that the critical angle. The transmitted beam just grazes the interface. (b) Total internal refiection.
(GIPhotoStock/Photo Researchers. Inc.)
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Figure3.13. Fresnel amplitude ratios for internal and external incidence for an air-glass (n = 1.50)
interface. Ratios subscripted with x are for external incidence, and ratios subscripts with i are for
internal incidence. Transmission ratios for internal incidence are not shown.
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Figure 3.16 Relative phase shift Aw = ¢ — y. for total intemal reflection.
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Figure3.18 Reflectivity and Transmissivity foxncidencc whenn; = L0O0and e, = 1.50.
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Figure 3.19 Reflectivity forncidence when n; = 1.00 and n, = 1.50.
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